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B0 (700) AbHIE 30 (710) PAHIE Mg s (751) Leraeiy) S 1 (301) YA ciel : mal
o = J| ] 2 3
_ Ab  OH Ab = =
2|y ME S A IR - = ’ -
300
a0l 1,559, 196 1,550,550 8,646
301
et a=s 68,615 68,330 285
4,247 3,962 285 109 ZUAZ2RRAEEH=
O Jl=s ZE (1,454,400 )-21& (1,170,000 ) = 285
304
R8s S 969,964 961,603 8,361
759,390 753,176 6,214 |01 H=RES
O ezvga S
28 (6,251,092,000& x 12.0041%)-21 & (744,248,000& ) 6,140
O Ma2s 223
d & (6,251,092,000& x0.144%)-21H (8,928,000% ) = 74
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O =oAL
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— &03 Z A (6,085,000 )-J1 & (5,735,000&) = 350
— Y@ EF I A (2,434,000 )-J1 & (2,294,000& ) = 140
— NHEHEXEAZ(DSE
Z & (1,760,000 )-J1 & (0&) = 1,760
— 2Bt = Z A (2,333,000& )-J1&(2,199,000&) = 134
— XY A (1,556,0002 )-J18(1,466,000&) = 90
- =54 Z A (4,044,000 )-J1H(3,811,000&) = 233
- d2=g 28 (1,623,000&)-I1 & (1,530,000&) = 93
200
29 Z 4l 6,015,082 5,461,682 553,400
201
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,550,000 ,300, 000 250,000 |02 Atat2=S 2 WA
O L& WM HXA(550,000,0002 )-I1 & (300,000,0008) = 250,000
,700,900 ,400,900 300,000 |05 DJIEFD A
O &2 £
A A (2,225,000,0002 )-21 & (1,925,000,000 ) = 300,000
99, 484 106,084 AB,600 |06 Al&ZHI S XY
O |SXZeltl AB6,600
P A== ;
)-21 & (6,600,0008) = 26,600
71
= AHH] ,658,040 ,358, 040 300,000
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O YEU=H AMY (=2 A 70,150
JIH E2Hel 242 U Z2A 38,550,000 x 1Al = 38,550
=X Miel s ZTHBA 31,600,000 x 1A = 31,600
260
HI S &4l Xt ,434,920 | 10,434,920 0
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= ] 3|3 s
o & o & = p %
= of & | x A o
19,013,869 | 18,455,098 558,771
19,013,869 | 18,455,098 558,771
712
By 7,707,434 | 7,148,663 558,771
100
olzey 923,322 914,731 8,591
101
o121 b 923,322 914,731 8,591
44,014 43,199 815 |03 RIIHAZEREB4
O HaZ JHZH gy 815
- =23 2 (25,541,0008 )-J1 & (25,040,000% ) = 501
— 403 2% (6,386,0002 )-71 & (6,260,0008! ) = 126
— FEEOMH B (2,555,0009)-71 F(2,504,0009) = 51
— 2HINMB 2 (490,0008! ) -1 & (480,000 ) = 0
— oxg 2% (1,306,0002 )-71 % (1,280,0008!) = 26
- F54Y9 2% (4,244,0002)-71F (4,160,0008!) = 84
- 322¢9 2% (852,0008 ) -1 & (835,000 ) = 17
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O =MAd 2T A& FUY ARy 252
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200
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230
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401
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591,000 566,000 25,000 (01 Al&H]
O ST ZAS 223 A 25,000,000% x 14! = 25,000
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401
NEEEE AT 547,513 | 1,488,737 58,776
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~ 9% U ML YARUSYH DHBA
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— 25 U MEASHI DMBA 75,000,0002 x 14! = 75,000
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— 4ZD Y (AW, yIE)
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